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SECTION - | ; General English Comprehension

pirection (Q. Nos.1 - 5) : Reag the passage and answer the four cholces given after each
question that follows: :

Genetic variation is the comerstone of evolution, without which there can be no natural selection, and
50 a low genetic diversity decreases the abilly of a species lo survive and reproduce, explains lead
author Yoshan Moodley, Professor at the Department of Zoology, University of Venda in South Africa.

Two centuries ago, the black rhinaceros which roamed much of sub-Saharan Africa - had 64 different
genetic lineages, but loday only 20 of these lineages remain, says the paper. The species is now
restricted to five countries, South Africa, Namibja, Kenya, Zimhah';m and Tanzania. Genetically unique
populations that once existed in Nigeria, Cameroon, Chad, Eritrea, Ethiopia, Somalia, Mozambique,
Malawi and Angola have disappeared. The origins of the genetic erosion. coincided with colonial rule
in Africa and the popularity of big game hunting. From the second half of the 20" century, however,

poaching for hons has dramatically depleted their population and genetic diversity, especially in
Kenya and Tanzania.

1. Whalis important for evolution 7 . 3. From the second half of the 20"
(A) . Large population century what has caused a dramatic
(B) Survival of the fittest fall in black rhinoceros population ?

(A)  Colonial rule
(B) Fallin genefic diversity
(C). Poaching

(D)  Big game hunting

[55& Genetic variation
[D), Mixing of species
2. Genetically unique black rhinoceros

has been lost in all of the following
4,  Genetic diversity is proportional to :

countries, except ? (A) The ability of a species to
(A) Nigeria survive and reproduce
(B)  Malawi i (B)  Extinclion
(C)- Tanzania (C)  Species population
(D) Chad (D) Inbreeding
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Sub - Saharan Africa has lost how
many black rhino genelic fineages in
200 years ?

A) 20

(B) 30

(C) o4

Q). 44

His indolence is a great drawback
his success.

(A for

(B) in

(C) about

(D) o .

Find the correctly spelt word

(A) Gynaecology - '

(8)  Gyncology

(C)  Gynecology

(D). Gyneacology

Choose the one which can be
substituted for the given sentence :
The murder of brolher.

(A) Homicide

(B) Regicide

(C) Fralricide

(D) Sicide

Choose the word opposite in meaning
to the underlined word : ‘

His eloquent speech helped him bag
the award. -

(A) Lucid

(B) Vivid

(C) Short

(D) Inarticulate

10.

1.

12,

13

14.

15.

The synonym of ‘Mammolh' s :

(A)  Greedy

(B) Straight

(€) Wil

(D)  Huge

Use mask as a precaution _——
corona virus.
(A)  for

(B) against
(C) from
(D) to

The bird flew
(A) across
(B) over
(C) beside
(D)  behind
* up hope.
(A)  have not yetagain

{ﬁ] do not yet given

(C)- did not yet give

(D) am notgiving

The plan will be sanctioned _____a
forinight. '

(A) in

(B)  within «

(C) by

(D) since

He ___inthiscollege for five years.
(A) leaches

(B) is teaching

(C) taught

(D)+ has been leaching

my head.

| B
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Section - Il : Logleal & Analytical Reasoning
@vs-lll; aifF® vd fAraaoneim R

| 3. Find the number of squares inthe given 3t &Y 7Y fRrar 3 e < e 0
: figure - Hifory: 21z
1 o
= m @ mll ElR
o @ @ & = il 00|
th : \e
No = B B 5 w5
@B o | OO g
| W 2 Ay 20
| ‘ ® 25 (B) 25
© 22 (C) 32
©) 36 ) %
32, 1f32x5=05 and 10x4=40, then 54x3=7 * 32. TfR 32x5=253f¥ 19x4=40 B, V1 54x3=?
(A 33 (A) 33
B) 34 () 34
© & ©) 21
(D) 29 (0) 28
33.  Find mean: 3. Wy fere ;|
1,2,3,6,1,4,5,38 . 1,2,3,6,1,4,5,38
A 4 - (A) 4
B) 6 B 5
() 6- (C) 6
o 7 _ D) 7
34.  Inthe following question, select theodd 34, Frafaiad we # fay U fawedf
from the given alternatives : # 9 fawd @1 9o
(A) Hand (A) B
(8) Nose (B @
(C) Heart € f=
() Eye () sf@
CET-B.Ed-C/2025 (8)




45, Study the given Paltern carefully and
thal can replace the

select the number

question mark (?) in it -
_4_-70 9
° 13 13
T 19 9

(A) 23

(8) 13

© 17

(D) 21-

36. Select the number that can come in .
place of the question mark (?) in the
following series :

3,7,15,31,63,7
127 . '

(A)

(B)

(€)
(©)

place of question mark (?) in the figure :

VYV

7

(A)
(8)
©
(0)

128
138
212

3
19-
25

CET-B.Ed.-C/2025
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35.

36.

37.

fag g et @ e e ana
W R v R ()3 o W

4 10 9
5§ 1 13
T W 7

(A) 23

B) 13

(cy 17

D) 21

g9 d@r @r d99d e Wl

@I UR AT Hehell & 7

(A)
(B)
(C)
(D)

127
128
138
212

3,7,15,31,63,7

Prefefaa sfaen # ue fre ()®

Iy Eaasaqlem T4 Pw Er
amfr # weT forg () 9 WE W
W oM @ forg wdi sugE ®

(A)
(8)
(C)
(D)

Y'YV

3
19
25

(9)
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38.

Wﬁ—wﬁqﬂq&wé

Four letters ~ clusters heve been given 38,

out of which three are alike in same & Ry e @ o orar & 9K
manner and one Is different. Select the

one that is different : Wmﬁ%lﬁﬁﬁmﬁﬂa:
A)  sqQo (A) saqo

(B) YwWu ® YWy

(C) MK -, (C) MK

(D) GED* (D) GED .

39.  If 28 February 2017 was Tuesday, then * 39. afe 28 Ga¥y 2017 @1 HITAAR ‘-‘?IT
whatwasmaayqrwnweékon 28 dr 28 W@l 2019 @I S
February 2019 ? aﬁ%—w o= ar?

) Thirsday W TR
(B)  Saturday - (B). WfER
(C) Friday. (€) IFAR
- (D) Monday (0) ¥rER

40.  Ifyouwrite downall the numbers from1 40, af2 ang 1 & 100 &% o0 aiFf $r
to 100, then how many times do you ﬁ@‘e’r a1 fhas s anT 1 3w
write 12 ‘mﬁq ?

(A titimes. ' A 11 AR |

(B) 20times (B) 20 a®

(C) 10times © 10WR

(0) 21times-~ - 0) 219X
CET-B.Ed-C/2025 (10)



at. Ifellhe Aare droppog from the gven 41, Ry & 1 rrvr A Y A 7 zer
armangement, which of the following fr oy, @ Fr= % ¥ e
option Wil be elayen .
thfrom the [aftin the fwea €1 T e & A1 aiw @
given amangement 7
qREdr 2R 7
CUBAEDEDABEBAUCDBCADB
i CUBAEDEDABEBAUCDECADB
BCAC
REDA DUBCACBEDA
A U.
o & CYRY
B) E
@ c © ¢
@ D . D) D
42. WPdenoled +, Qdenoted x, Rdsnoted 42, =it PaT aif+ &, Q@ af x %, R
+.Sdanntad~.1}1&nwhatiamavalue\ T anf +&, SHT onf - & A
of:
: 45Q30P10R 128152
.  45Q30P10R12S15?
. (A) 132
(A) 132.
(B) 160
(8) 160
(C) 202
(€ 202
60
(D) 60 -
43. IfA:B=11:7andB:C=5:19,then 43, AfXA:B=11:73lRB:C=5:19 & r
what is the valug of A:B:C? A:B:C®T A9 a1 B ?
(A) 55:35:133 (A) 55:35:133
(B) 35:55:133 (B) 35:55:133
(C) 35:133:55 (C) 35:133:55
(D) 55:133:35 (D) 55:133:35
CET-B Ed-C/2025 (1) P =



4. Which of the following group of words Is 44, FPr=1fiRas srex wgE W B p
completely different ? TE AR
(A TUG (A TUG
" (B) POK {B} \ PQK
© s (C) STH
© RsT g A
45. I the average of 7 consecutive number ~ 45. 7 Hfi® Wemal @t afraa 2087 A
is 20 then what is the largest number T et i ey gdr w9
among these number? sy 7 ‘
(A) 23 (A) 23
B8 24 B) 4
(©) 48 .
Oy 14 L1 :
46.  Complete this series:8, 15,28,53,....  46. 8,15,28,53, ... sferT BT T BN
(A) 98 (A) , 98
(8) 100 (B) 100
© 102« © 102
() 106 ), e I '
47.  Ina certain code language MONEY'ls 47, bl ff¥=id #1s wmwr § 'MONEY’
coded as 72" and ‘BILL' s coded as ‘35, - P 72D 9§ P ey T &
How will. ‘TOKEN' be coded in that SR BT 5D Y F PR
;:']'g"ag: . fmr wrar &1 S Wi # TOKEN'
® 70 as‘r e wR Bifsa fbar smon?
(C) 65 A 75
0 60 (B) 70
(C) 65
(D) 60
CET-B.EA.-C/2025 (12) o



4. Inthe following question, select heodd 48,  FrmifaiRare s ¥ TRy g famped
number from the given alternatives : ¥ 3y fagw i@ @ gy
W N ) 1136
(8) 5207 (B) 5207
© 1719 © 179
1) e (D) 2608
49, Complete the analogy - : 49. qrEEIET B Of BT :
NOMADS : LQKCBU : : GRAPES : __ NOMADS : LGKCBU : : GRAPES : ___
(A) ETYRUC (A) ETYRUC
(B) ETRCYU (B) ETRCYU
(C) ETRYCU (©) ETRYCU
- (D) ETYRCU (0) ETYRCU
§0. Risfather of J. Qs the daughterof P.  50. R,J @7 firr &1 Q,P T T ¥ R,
~ Risthe'son of S. Jis the daughter of K. S & 9= &1 J,K o g1 8| P,8 @t
P s the wie of S. How is P related to K? Tl %1 PK | P Hafew B ?
(A)  Brother's wife @) g ® T
(B) Husband's mother . @) ufer @ "
. (C)  Wife's father | (C) ueh & fer
(D) Father's sister ) R < w5
51" Which of the following letter-clusterswill 61, fF=ifeiRaa 3 & @v—ar siEr—w8
replace the question mark (?) in the 4 TE gEar ¥ ueaEs GE (?)
given series 7 71 TfreT W ?
LAT, NDR, PGP, 7, TML LAT, NOR, PGP, 2., TML
(A SKO (A) SKO
(B) RKN B) RKN
(C) S0 (C) SJO
(D) RIN (D) RIN -
CET-BEd-C/2025 (13) —
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52.  Inacertaln code language ROMAN' s 52. U@ Mg We wrar 3 'ROMAN' ol
written as ‘ILNZM', How will 'FRANCE' INZM foray e & <t T A9
be wrilten in that code language ? % ‘FRANCE' 9 #9 forear g 7
(A)  vizMxv A UMV
(B) UiZMVX B)  UlZMvX
(€) XiZmMvec ©)  XzZMve
(0)  vizmux (D) vizmux

53. If5@2#2=5and9 @4 #6=6,then 53, ﬁ5'2#2=53ﬁ?9@4?‘5=ﬁ'
T@B#4=7 WT@8#4=2
(A 10 (A 10
B 8 , B 8
©) 16 € 16
0 14 ' 0) 14

54, lrmemnkufﬂmhgmupufqa 54. Af 48 SRfEaRi @ @ e 3 A1

' candidates is 11" from the top, then P @ FX W 1149 8, 9 A A

what will be rank of Reena from the =1 @1 Yo Ty BT P
ags:f | (A) 47
W 47 ® 49
(8 48 ©) 45
@ 4 (O) 38
(D) 38 . :

55.  Which of the following letterwill comein ~ 65. fo= % & #9— R W fire
place of question mark ? % eI TR T 7

JN,QUX? LN, QU X7

() A | A A
8) B (8) B
€ ¢ i € cC
D) z (D) z

CET-B.Ed.-C/2025 (14) B



Soctlon - IV : General Awareness | WU — |V : yror=y 3AfFser

56. The mid day meal scheme was 56. ¥rzyrEd WIS WS GE @ 7Y
launched on : (A) 15 37T, 2001
(A)  August 15, 2001 (B) 15 37T, 1992
(B)  August 15, 1992 '
(C) 15 3T, 1995
(C)  August 15,1995
(D) 15 3FT%d, 2002
D) August 15, 2002 r
§7. Whichofthe following is lightestmetal 2 57, =7 3 & @~ a1g Haw ot
(A) Copper 87
(B) Siver "W e
i (B) el
(C) Lithium
(c) ferform
(D) Gold 0 o
58. ﬁhich was the early capilal anagadh'} 58. Y o URMAE AEET DE-H
" (&) Rejgriha (O
) Nalanda )
. (B) TSiET
(C) A
C)
(D) Patiiputra ©) ‘Il'd'f%lgil
5. Who was the chairman of the ‘drafing 58, WM w1 & Wwu WY B
committee’ of the consfituent assembly? e I o ?
(A)  Jawahartal Nehru (A) STATERET RS
(B) Dr.Rajendra P;ahsadp : o e S
(C) Sardar Vallabhbhai Pa
| C) WYGER geerdars qed
(D)  Dr. Bhimrao Ambedkar ©
: (D) Sfo g srds®Hy
CET-B.Ed.-C/2025 (15) [P.T.0]




60. Gyanpith Award Is related o which  60. ST URRR e g W WA

field? g7
(A)  Literature ' (A iR
B) History (8 wRew
(©) Drama | (O TS
©) Dance (0) T
61.  Authorof the National Song of Indials: 61,  #%e @ Wi *fie @ vafdl @ -
(A)  Rabindranath Tagore (A) T 2R
(8)  Bankimchandra Chatterjee (B) wfHam= =el
(C)  SirMuhammad Igbal | . (C) ¥R HIEWE gehdldl
(['11' Sarojini Naidu D) R g
62. Intemational Women's Day s 62. RIS HAEen W qamr GGl
celebrated on : : &' | '
(A) 5 March Sy W sa
(8)  8March kY . B) 8 #AE
(C) 10July (C) * 10 TS
(D) 12 August (D) 12 ST
63.  Author of ‘Malgudi Days'is : ‘ 63. ‘qmﬂ@ T B m &
(A)  Mulkraj Anand | _ | (A) HERIN IS
(B) RK.Narayan B ard TR
(€) RKLaxman " (C) IRA. T
(D)  Mukul Keshwan (D) Tme DA

CET-B.EQ-CI2025 (16)



64. Who declared Eagy payisian as an 64,
independent repypjie

o)
(8
(©)
(0)

65. When did Gandhii statted ovil 5.

— TN R J W L ] 5

‘Bangladesh' ?
Indira Gandhy

Sheikh Mujibyr Rahman
Sheikh Khalida Jiya

Kazi Nazrul Islam

diSCﬂ}EdI’EnBe movement 7

(A)
(B)
(€)
(@)

_66.  Thegreen planet in the solar syslemis:  68.
(A)

(B)
(©)
(D)

67. The largest public sector underlakingin 7.

1921
1935
1930
1942

Mars
Uranus
Venus

Earth

the country is :

(A)
(8)
()
(D)

Petroleum
Airways
Railways
Roadways

MRS g B AT A g
efte forar ?

(N g T

(8) 2w HfigEHE

(c) e wnferar R

(0) et o T

vl agsT Qe TENT g/
&9 A T T o ? ‘
A 1921 |

(B) 1935

(C) 1930

(D) 1942

Hiew &1 80 98 ST & 7

(A) T

(8) T

(C) IpF

0 =&

q @ HEY 99 gEwie A
TUHH BT & 7

W R

@) argant

€ Yo

(D) wS®H FEf

CET-BEd-C/2025 (17)
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68.

69,

70.

1.

Full form of W.T.0. Is :

(A)  World Life Therapeutic Organism
(B)  World Trade Organisalion

(C) w&m Telematics Organisalion
(D)  None of these -

What is the number of Earth Satellites ?
(A) 0 :

(B 1

(C) 2

® &

What is the minimum age limit to be
elected as th;s President of lndl_a ?

(A) 25years

(B) 30 years

(C) 35years

(D) 40 years

Which planet is known as the 'Red
Planet’ ?

(A) Mars

(B) Mercury

(C) Venus

(D) Satumn

68.

69.

70.

.

(C)

= e mn ——

W.T.0. &1 9vf wq & .

W T T s AP

(B) @€ = g
(C) uee 2femiifeay amiATga
() =7 W e i

-Wﬁ?ﬂﬂﬁﬁ#ﬁfﬁ?ﬂ?ﬁ%?
A 0

| 1 .

€ 2

(D) 8

aRg @ weufy faffaa B9 @
A Sy e | E 7

(A) 25 ad '

(8) 30 Y |

(C) 35T

(D) 40 ad

fou 7€ @ O UE T TH §
ST T & ?

(A)
(B)

44 4 g

(D)

——

" CET-B.Ed.-C/2025
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72, Quality of a popy

lation depends upon: 72w amrardy @ erasn i oy ik
(A)  Literacy rate e ?
(B)  Miteracy | (A) T &Y
(C)  Skill formation B) Frerar
(D)  Health of a person (€) rerer fmior
(D) U& Afth & w@een
7. Who coined the phrase Uity in'  73. Raferem ¥ woar 9w fee wE?
Diversity' ? | ® wEE W Riw
(A)  Shaheed Bhagat Singh (B) wETEN AR
(B) Mahatma Gandhi C(C) ETEYEe AEY
(C) Jawaharlal Nehry (D) TRER ToTTIE T
(D)  Sardar Vallabhbhai Patel .
7. When was the firstgeneral election held 74,  #Iet 3 W& AR 3T T T BY?
in India? (A) 1947
(A) 1947 (B) 1948
(B) 1948 (C) 1950
(C) 1950 (D) 1951
(D). 1851
75.  Unequality in India is due o ; 75.  WRE ¥ AT foh BRoT ¥ & ?
(A)  Casteand gender W TRy SR fe
(B) People's refigion (B) @M @ ud
() Dignity ©) e
(D) Monetary status D) iR wwR
CET-B.Ed-C/2025 (19) [P.1.0]



76.  Who was the first person fo climb the 76, ST VAT uy wgey, aren W

mount Everest ? =fRh B o ?
(A)  Ronald . (A) TS
(B)  Neil Armsirong (B) e s
(C) Magellan (C) e
(D)  Edmund Hillary (D) vess feerd
.. isthe capital of Kerala, ~ 77. ____ @%al @t o 81
(A) Silvassa - C W Rctarr '
(B) - Thiruvananthapuram - (8) Rrvasiagm
() Chennai - o
.{D} Daman ' (D) = _
78. wﬁuwas'm.nrstm hreside:ntnf 78, TR @ wew wfeer wsuf @
~ India ? . o '
(A)  Pratibha Patl (A Wi wfes
(B)  Droupadi Murmu | &t 39
() Indira Gandhi ‘ ' (©) SR R

(D)  None of the above (O) wwRww ¥ ¥ P
79.  Konark Sun Temple is located inwhich ~ 79.  fy=iforRaa # | fve wrsa & Froma

of the following states ? Wi Hfer fed & 7
(A)  Gujarat - W IERIE
| () Uttar Pradesh | B SWRWI
(C) Odisha (€) anfsem
(D)  Andhra Pradesh (D) s W
CET-B.Ed.-C/2025 (20)



go. Which Planet is knowy ag (he plue 80, 7T WE AT WE (Blue Planet)
Planet? & T W S e 8 7
W Vinue ® T
(8) Earth B) g
(C) Jupiter (€) gefa
(D) Satum (D) -=fr
81. Inwhichyeardid Gandhijj undsrtakethe  81. TR s ad < g @ ?
Dandi March ?
(A) 1922 W B
@ 1027 ). W
€ 1930 (€ 190
(D) 1932 (D) 1932
82. Indian Constitution does not apFI:DHB 82. wrda Wi fEaer sigHET T8l
the? FRAT? |
(A Democracy .{A} PIUIGE
(B)  Secularism B enifrdear
(C) Sovereign (C) wgE=
©) Tyranny e
8. The longest continentin areais : 83, .E‘ﬁﬂa_c-r H HaQ oI Hﬁlﬂw T B
A Afica W s |
(B) Asia (8) TRmm
(C) Europe € T
(D)  North America (D) T AReT
CET-B.Ed.C/2025 (21) [PT.0]
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84, Which s the deepesl ocean ? 84. I WA TR AR & ?
(A)  Pacific Ocean (A) W TR |
(B) Indian Ocean B) f&e TR
(C) Alantic Ocean (C) eewifes werar
(D)  Arctic Ocean (0) T gl wErEr
8. Who is the known as the father of 85, BWER 1 S b o ¥ fardt AT
computer ?' e g 7 |
(A)  John Thomas A ST g
(B)  Zuckerberg @ s
(C) Charles Babbage (€ e T
(D)  MNone of the above (O) S ¥ P A
86. Which Aricle of the Indian Consituon 86, IR W @1 i T AGBT
deals with ﬁightthuaitf? FET B e § Hdtd B 7
(A)  Ariicle 14 N I 1
(B) Aricle 19 (B) TS 19
(C) Aricle 21 () ST 21
(D) Aricle 32 () G 32
g7, Which vitamin is known as the 87, fahw e\ Fr wEA Rl
‘Sunshine Vitamin'? & w9 ¥ T o & ?
(A) ‘ Vitamin A ) ﬁETﬁ’FfA
(8) Vitamin B12 - Rt B2
(C) VilaminC
(D) VilaminD © eI G
(o) faef@=D
CET-B.Ed.-CI2025 (22)



89.

90.

81.

T WETRYY I TR . B L G v RPTETETT N L U e
-

4

The ‘fundamenty Nghts' in the

G Indlan  88. e wifawrE # e s
constitution of whigp, ::H:;E: . i m o
(A)  Ireland (#) SRS
(®) Britain 8 faed
(C)  Germany (€ s
(0) * United States of Amrica 0 g o SRR
Atfirst which ruler made ancient Indiaa 89, ®IFT RIS W ARG DI FawH
integrated nation 7 TG I T 7
(A)  Akbar W -
(B)  Chandragupta Maurys @ e
(C) Ghananand C) M=
(D)  Chandragupta Vikramaditya (D) TFETw AEERw
Who fonded the ‘Satyashodnek 0. ‘meTHiE W @ NG @
Samaj? | e er?
(A)  Rajaram Mohan Roy {f\] IR HIET Y
(B)  Ishwar Chandra Vidyasagar . (B) i?a‘ﬁﬁ: famarT |
(C) Mahatma ch;tiba Phule (C) werH W we
(D) Gopal Krishna Gokhale (D) YT F TREe
The ancestor of astonaut Sunita  ©1. siafRer T g faferrw & gdw
. Williams belongs to which stalaof Ind'ia?‘ URT & 5 1o § wdRe # 2
(A)  Tamil Nadu A Sy —
(8) Kerala .
(C) . Odisha e
(D) Gujarat
(D) o
CET-BEd-C12025 (4) . P10)]
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92. Wi*am of the following s a worldwide 92 PRI & ¥ g W FEA
system of computer networks ? Jeqd B T Rygerd gomen 8 7
(A)  Intranet (A) =g
(B)  Webpage (|8) Aaiw
(C) Intemet . (C) Fewme
(D)  Website (0) dEwrEe
93.  Whatls the full form of UPI 7 93. 'UPI &1 gof &g zar & 7
(A)  Unified Paymanis Interface (AI} oSS Yicy EE?‘?"H )
(B)  Universal Payments Integration (B8) gfasiel Yew AT
() Uniﬁalemcessing Interface (€ IFwEs dRRE §SIEH
. (D) Universal Processing Integration (D) gfrawfer AR SEHTE
94. Under what name did Space X 94. SpaceX = fbw = & 39+ -V
sucoessfully test its new spacecraft ? | iaRera™ &1 Wwel ydevr fbar ?
(A)  Stariink. (A) wERRi®
(B)  Starship (B) werRy
(C) Falcon Heavy (C) e 24T
(D) Dragon | (D) ¥
95. The conceptof Public Interest Litigation 95, e % ‘Srifea Wifeepr (PIL) @t
(PIL) in India is inspired from which v e e A iRg & 7
country ? (A) RFT
A)  America
:B: Brilain lB.} L :
() France 6w
(D)  Gerinany (D)
CET-B.ED.-C/2025 (24)



Section .y, Teaching-Learning Environment In Schools
Qrg.y. Frenmaal ¥ REvi—siRem oRaw

) How can a teachgr enhance children's 86.

leaming in the classroom 2

(A) By Competilion

(8) By training

(C) By relating the subject mater to
students’ lives '

(D) By hard work

g7. Child centered lessons lake children  97.

forward :
(A)  Excessive action
(B) Complete development

(C)  Development of civic qualities
(D) None of these

98. Who among the following /s a chid  98.

educalionist ?

(A)  Giju Bhai Badheka
(B) Vivekananda

(C) Gandhi

(D) Jawaharlal Nehru

99, There is a benefit in changing the seals ~ 99.

of students in the classroom :
(A)  The child does no_tfeal inferior in

the class .
(B)  New students are welcomed
(C) It promoles interaction among
children
(D) Noneofthese

—

U e arere! @ wen i e
T DY g1 aPaT € P

(A) wirEEl g/

(B) wi¥wor g™

() Trymavg @ e & wiaE

@ Wi W ©Ng wWe
(D) FE FETd G |
a6l BfFEd U8 Tl Bl SR
TRl &

(A) sruftes far

(B wwEl R

(€ =rRe it @1 fw

0 T PE

et & ¥ are Rrmareh o & 7
(A) TﬂTg'*Tréaaﬁr -

(B) faawF=

(C) i

(D) aABHAA 5%

wET A OE @ Wel & yRaffa
?Tﬂe[ieiﬂﬁg‘:

() F= wE H EaT s T

Hal

(B) & B & w@Er a2

©) ¥ a= @ dre R WA
@I qgrar aT 8

(D) &4 9§ #12

" CETBEd.CRO® (25) -
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100. A good teacher : 100. U 20T fegep
(A)  Establishes communication with (A BE ¥ gare enfid BT g
students (B) U&EH ¥ ugw @& o R
(B) Inspires to read from the books | T 2
(C)  Emphasis on rote learning (C) &I TR g Ear &
(D)  None of these 0) T & T
101, Mustbe in primary teacher 101, weife R ¥ g AR :
{A} Patience " o9
(B) Love ®
(C)  (A)and (B) both (€) (A)vd (B)erHt
(D)  Strict discipline O) T I
102. The right way fo bring discipline in ~ 102. ﬁﬁaqwaﬁmmﬁ‘r aelenT
stﬁdenis Is T
(A) * Ideal bahaviuurl:;fa teacher A s 1 ared TR
(B)  Harsh behaviour of the taachgr @) FET B TOR aEER
(C) Dialogue between students and ' :
bt (0 ol IR Raet 7 wHarg
O N D) W ()
103. . Whatis teaching ? 103, fregorwar & ?
(A) - Anarl (A) TP Sell
(B)  Askil (B) TF B
(C) (A iznr.l (B) both | ©) (AT @)
(D) Management 0) v
CET-B.Ed.-C/2025 (26) P
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TR IR o ORI e, s e A SR

104, Rmew vd B @ 99 TG BE
teacher and sludgyys .

=few:
A To creats ¥ ko N wE B qEE @
classroom environment WT‘ T & forw
(B) Toprovide luition to students @) i B ogu w3 R
€ To estabish  rgigonghip ) afwmEs @ oE @ 4™
““"““_Fafﬂ"l and student - we wifE & B g
(D)  None of thege 0) . T & Pré T
105, What kind of atttude shoud a teacher ~ 105. e fareres ¥ Bt & Ry B W@
have towards students 7 et |
() Responsibity (n) wEREIE B
(B_] Sense of sensitivity ' (B) Hieadiiear & 4d
(C) Senseof pﬁsiﬁvil:;f ' (C) TTFRIRl &1 AT
(D) Al of the above 'L - (D) Sugw wl
106. There is interaclion between leacher 106, f&/w 3k B @ 99 oW v
and sludents : e &
(A) From ihe rich knowledge of A el @ wE 9 @
teacher

B PesoroEis BEER 9
(B) Teacher being friend of studenls

: c) TErs Hr gy vedds B9 &

(C) The teacher being a guide -

(D) Alofthe above (0) Sudw Wi

107. Itisa type of discipline : S 107, ST BT SR R

(A)  Impressionistic (A)  UHTETHSD .

(8) Emancipationistic ' (B) HewuTeIE

(C) Repressionistic - (0) THA

(D) Allofthe above (D) Suda Wi

CET-B.EQ.-C/2025 (27) [P.T.0]



108.

The aims of educalion should be :

(A)  To prepare students for practical
life

(B)  Preparing
examinations

students for

- (C)  Preparing students for jobs

(D)  To import knowledge of subjects

108.

e I S

RieT &1 9dey gy ey

W) Rl o wgeRe ST
@ forg am g

) frenf @ g o frg TN
. BT

(€ RenRRi o g @ frg TR
EaGll

D) faaPfai @ fgat @1 S

o the sludenls e
109.  An objective of learing should be : 109. AR FT ST B AR ¢
(A)  Behaviour changes (A) aER gReadd
(B) Adjustment (B) HHRIYGT
(C)  None of these (C) &7 & BIg Fal
(D)  Both (A) and (B) (D) (ATE (B)THT
110 The first step of leaming Is : 110, i@ @1 g2 Hue B
(A) " Curiosity (o) fogmar
(B) Intelligence (B) gfE
(C)  Hard work €) @ Hea
(D) Concentrafion (D) TR
111.  Who said that, children should leamto 111, e wer &5, a=di &1 Wdwer
wle first? ' ferarm dram =Ry ?
(A)  Montessori (A) wread
(8) Tagore (B) IR
(C) Herbert Spencer (C) EWEC. W
(0) GiuBhai - (D) g e
112. Ateacher should check the homework: 112, Ueh fimErd &Y I8 F1d B Wire we=f)
(A)  Regular - : R
(B) Never (4) frafe
(C) Atthe request of the guardian (B) @i el
(D) Inaweak (€) HPEF B Heq W
(D) U AETE
CET-B.Ed.-C/2025 ~ (28) S




143, Who said g, ,

13,

114,

115.

116.

WWH[ 'mmiﬁf
Y w7

(B ST &

() &R

(0) wiveEd

W@ R 3w ARy -

(A) v Ry B wogd weEr
B) e R Brere B g
(C) oI BT B WEE B ggF
O s wh

T A e oy @ fRen @
Ferar foar o var & ?

(A) @ B

8) [ e

©) T Bfwd

(0) frraw afeg

PR B & aifgy ?

(D) nmamﬂ;aam

soclety’ ? ols a minlature
(A) Rﬂusse“
(B)  John Dewy
(C) Tagore
(D) Mnnt&ﬂuﬁ
14 Ateacher shoyq g, it :
(A) Streng'lhening your subject
your  students'
 Understanding
(D)  Allthe above
115. What type of education s being
promoted at present ?
(A)  Child centered
(B)  Teacher centered .
(C)  Curriculum centered
(D) Guardian centered
116, What kinds of things should be there in
children's classroom ? :
(A)  According to the appropriate size
of the children
(B)  According lothe school
(C) Asper availability in the market
© (D) . According to the principal
—— PO T
CET-BEd.-C/2025
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2R B IR, g=t @1 e AW

7. According to Tagore, In which language 117,
should be children be educaled ? 3 # R 30 w@fee
(A)  Mother tongue \W HIgHTHT
(B) Bengali (B) @i
(©)  Hind € &=
(D) English 0 s
118. Rousaeahmsam.rppnrﬁaruf: : 118, wd WD 9
(A)  The child's freedom (A) T BT T P
(8) Disciplne (B) ST BT
(C) - Divine discipline (©) S sigemEs @l
. (D) The state discipline (D) ST TR T
119. Accordingto John Dewey, chidrenhave ~ 119. i Il & Iga F=il A oferdl
interests: serE€:
(A)  Interestin taking (&)  FO—ET TT P B
(B) Interest in creating (B) T HA @I Bl
(C) Inlerest in arfistic expression () DoTTE AT B B
(D) * Allof the above (D) <SudeE W
120, What measures can be'taken fo 120, TR ¥ SFTURTTERET B T T
eliminate indiscipline among children ? @ fory- @7 U B Wad 3 ?
(A) Personal contact between (A P oW w@El & 4
teachers and studenls affra s
(8) The school environment should (B) faemera @ arraRer @ R
be made moral and cordial vg dreTegel 99T Sl
(C) Children should be given © faemem# =it @1 S gvs
appropriate punishmentin school e T
(D) Both (A)and (B) 0 @3k @
CET-BEQ-C/2025 (30)




